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LE TTERS e e e (frompage:

I disagree with your circuit simplifica-
tion in which ICIC can be used as a cur-
rent-to-voltage converter. The solar cell
is a device that develops a current, up to
300.mA, that is proportional to sunlight
energy. Its terminal voltage is not signifi-
cant. Thus, the cell must be loaded down
with a low value of resistance (R1 in the
project) to absorb the current. In this cir-
cuit, R1 is a simple, perfect current-to-
voltage converter and eliminates the
problem of absorbing the heavy 300-mA
current in the IC amplifier circuit, which
then must be offset by the 9-volt battery.
—Tony Caristi.





